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Q1) Attempt  any two parts of  the following: [2×5=10]

a) Differentiate between indicating, integrating and recording instruments.

b) Write the difference between ammeter and voltmeter.

c) Enlist the different types of torques provided in indicating type instruments and explain why there torques are
required.

Q2) Attempt  any two parts of  the following: [2×5=10]

a) Explain the principle and construction of dynamometer type wattmeter.

b) Describe with neat sketch, the construction of moving coil instruments.

c) Write the merits and demerits of three phase induction type energy meters.

Q3) Attempt  any two parts of  the following: [2×5=10]

a) Describe the working principle of maximum demand Indicators.

b) Describe the principle and working of single phase power factor meter.

c) Describe the difference between CT and PT.

Q4) Attempt  any two parts of  the following: [2×5=10]

a) Explain the working  of CRO with the help of Block diagram.

b) Describe the two wattmeter method for the measurement of power in a 3 phase balanced load system.

c) Define transducers and enlist the types of transducers.

Q5) Attempt  any two parts of  the following: [2×5=10]

a) Write a short note on

i) Resistance temperature detector

ii) Smart meter technology

b) Describe the working of  Displacement measurement using transducers.

c) Explain the working of  tong tester.
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NOTES :

i) Attempt all questions.

ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any
difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.
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({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)

Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > : i) g^r àíZm| Ho$ CÎma Xr{O`o&

ii) narjm{W©`m§o H$mo gbmh Xr OmVr h¡ {H$ do àíZ-nÌ Ho$ XmoZm§o AZwdmXmo§ _| gm§»`H$s` Am±H$‹S>m§o H$m {deof ê$n go {_bmZ H$a b§o& `{X {hÝXr AZwdmX Ho$
{H$gr àíZ _| {H$gr àH$ma H$s {^ÞVm h¡, Vmo narjmWu A§J«oOr AZwdmX Ho$ AZwgma àíZ H$m CÎma X§o&

iii) narjm{W©`m| Ûmam noµOa Am¡a _mo~mBb \$moZ H$m à`moJ AZw_Ý` Zht h¡&

à.à.à.à.à.1) {ZåZ{b{IV ‘§o go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2×5=10]

A) B§S>rHo$qQ>J, B§Q>rJ«oqQ>J Am¡a [aH$m°{S>ªJ B§ñQ¯>‘|Q> Ho$ ~rM A§Va ~VmE&

~) E‘rQ>a Am¡a dmoëQ>‘rQ>a ‘| A§Va {b{IE&

g) B§S>rHo$qQ>J Q>mB©n B§ñQ¯>‘|Q ‘o§ {XE JE {d{^Þ àH$ma Ho$ Q>m°H©$ H$mo gyMr~Õ H$a| Am¡a ~VmE§ {H$ BZ Q>m°H©$ H$s Amdí¶H$Vm ³¶m| h¡?

à.à.à.à.à.2) {ZåZ{b{IV ‘o§ go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2×5=10]

A) S>m¶Zo‘mo‘rQ>a Q>mB©n dmQ>‘rQ>a H$m {gÕm§V Ed§ {Z‘m©U g‘PmB¶o&

~) J{Verb Hy§$S>b ¶§Ì H$s g§aMZm H$m ñnï> aoIm{MÌ g{hV dU©Z H$a§o&

g) {ÌMaU àoaU Q>mB©n D$Om© ‘rQ>a Ho$ JwU Am¡a Xmof {b{IE&

à.à.à.à.à.3) {ZåZ{b{IV ‘o§ go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2×5=10]

A) A{YH$V‘ ‘m§J gyMH$ Ho$ H$m¶© {gÕm§V H$m dU©Z H$a|&

~) qgJb ’o$O nmda ’¡$³Q>a ‘rQ>a Ho$ {gÕm§V Ed§ H$m¶©àUmbr H$m dU©Z H$a§o&

g) grQ>r Am¡a nrQ>r Ho$ ~rM A§Va H$m dU©Z H$a|&

à.à.à.à.à.4) {ZåZ{b{IV ‘o§ go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2×5=10]

A) ãbm°H$ AmaoI H$s ghm¶Vm go grAmaAmo H$s H$m¶©àUmbr H$mo g‘PmBE&

~) VrZ MaU g§VwbZ ^ma àUmbr ‘o§ e{º$ Ho$ ‘mnZ Ho$ {bE Xmo dmQ>‘rQ>a {d{Y H$m dU©Z H$a|&

g) Q´>m§gS>¶yga H$mo n[a^m{fV H$a| Am¡a Q´>m§gS>¶yga Ho$ àH$mam§o H$mo gyMr~Õ H$a|&

à.à.à.à.à.5) {ZåZ{b{IV ‘o§ go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2×5=10]

A) g§{já ZmoQ> {bI§o:

i) à{VamoY Vmn‘mZ {S>Q>o³Q>a

ii) ñ‘mQ>© ‘rQ>a àm¡Úmo{JH$s

~) Q´>m§gS>¶yga H$m Cn¶moJ H$aHo$ {dñWmnZ ‘mn H$s H$m¶©àUmbr H$m dU©Z H$a|&

g) Q>m|J Q>oñQ>a H$s H$m¶©àUmbr g‘PmB¶o&
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